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8. [5%172=

i 278 iy 578 (i) 577 (v) 579 (v) 778

9. Find the reciprocal of 88

10. Simplify the expression (-6)'6 X (-6)'2

M) 438 i) 88 (i) 62 (v) 6)° ) (-6)”7

11. =

i 910 iy 792 iy 711 (iv) 710 (v) 510

12. [(66)6x(65)4]+656

(i) 6 (ii) 1 (iii) 4 (iv) 0 (v) 2

13 Represent the given large number in scientific form
" 31147960000

(i) 3.114796x1010 (i) 3.114796x108 (iii) 3.114796x1012 (iv) 3.114796x10° (v) 3.114796x1011

14. Write the given number in usual form-4.704008 X 10'5

(i) -0.004704008 (ii) -0.0004704008 (iii) -0.00004704008 (iv) -0.000004704008 (v) -0.0000004704008
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The value of(-3)3 =23

(i) (-35)2 (ii) -36 (iii) -35 (iv) -38 (v) -32

Write the given number in usual form 1.156788><10'4

(i) 0.001156788 (ii) 0.00001156788 (iii) 0.000001156788 (iv) 0.0001156788

Represent the given small number in standard form
-0.00001173716x 1078

(i) -1.173716x10° 1% (i) -1.173716x10712 (i) -1.173716x1071L (iv) -1.173716x1071>

(v) -1.173716x10°13
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Simplify the expression ( -97 ) x( 23 )

-8
(2) -
2) -
(-2)8 (-2)8 (-2)8 (-2)° (-2)”7
(i) (i) (iii) (iv) (v)
38 5 3 38 38

3 @@

(i) (.378) (i) (381) (i) (.37g) (iv) (.378) V) (:375)

(v) 0.01156788
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22. Simplify
472x472

2 3 2
. By o 8y o 8
M 2% ) (;) G (7) o w (])

23. The value of(-2)2 +(-3)3

(i) (-23)2 (i) -23 (iii) -21 (iv) -26 (v) -24

7 -7 7
24. Simplify the expression ( - ) X ( : ) ( 25 )
7 8 -7 -7 ©
16 -20 18

25. The value of( -_25 ) - ( -3 )

-4375 .. _-4375) (i) (-4373) (iv) (
216 ! 214 216

-4375 ) -1459
V -
216 72



Assignment Key

1) (i) 2) (iii) 3) (iv) 4) (ii) 5) (iii) 6) (iv)
7) (iii) 8) (ii) 9) (iv) 10) (iv) 11) (iv) 12) (ii)
13) (i) 14) (iii) 15) (ii) 16) (iii) 17) (iv) 18) (v)
19) (iii) 20) (i) 21) (iv) 22) (v) 23) (ii) 24) (i)
25) (i)
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